il

6&Fs

ENTERPRISE SWITCHES
UNTERNEHMENS-SWITCHES
COMMUTATEURS D'ENTREPRISE

IYVA—TSAZXRAYF

Quick Start Guide
Quick Start Anleitung

Guide de Démarrage Rapide
DAYIRI—rAAR


https://manuals.plus/m/7ccb57465c82887792ee04dfba1c467277beeb6404bd066349d0afe20b40966c

Introduction

Thank you for choosing the switches. This guide is designed to familiarize you with the
layout of the switches and describes how to deploy them in your network.

Accessories

Power Cord x1

Rubber Pad x4

€

M6 Screw x4

Network Cable x1

Mounting Bracket x2

M6 Cage Nut x4

$3240-8P

§$3240-8T

Console Cable x1

g

M3 Screw x8

Grounding Cable x1

EN



EN

NOTE: The accessories may vary from illustration, please prevail in kind.

NOTE: This power cord cannot be used with other devices, and other power cords
should not be used with this device.
Hardware Overview

Front Panel Ports

$3240-8P

PWR

$3240-8T

PWR Console SFP+ RJ45

Ports
RJ45 10/100/1000BASE-T ports for Ethernet connection
SFP+ SFP+ ports for 10 Gbps connection

Console An RJ45 console port for serial management
PWR The AC power port




Front Panel LEDs

$3240-8P

PWR

$3240-8T

SYS SFP+ RJ45

PWR

LEDs State Description

On The port is linked.
RJ45/SFP+ o . - .

Blinking The port is receiving or sending data.

PoE On The port is supplying power.

(]

Off The port isn't supplying power.

PWR On The device is powered on normally.

SYS Blinking The system is starting normally.

EN



EN

Installation Requirements

Before the installation, make sure that you have the following
conditions ready:

Phillips screwdriver, M6 screws, M6 cage nuts and ESD tools.
Standard-sized, 19" wide rack with a minimum of 1U height available.

Category 5e or higher RJ45 Ethernet cables, and fiber optic cables.

Site Environment

Take good anti-static measures. During the installation process, the equipment should
be kept in a power-off state.

Make sure that the input voltage range matches the input voltage range specification
indicated on the power adapter/device.

Make sure that the equipment has good heat dissipation and ventilation.
Do not open or disassemble the casing of the equipment.

When cleaning the equipment, please cut off the power supply. Do not use any liquid to
scrub the equipment.

The equipment should be kept away from power lines, electric lights and power grids.



Mounting the Switch

Desk Mounting

-

. v

1. Attach four rubber pads to the bottom.
2. Place the switch on a desk.

NOTE: Heavy objects weighing = 4.5 kg cannot be placed above the equipment.

EN



EN

Rack Mounting

v

1. Secure the mounting brackets to the two sides of the switch with supplied screws.

2. Attach the switch to the rack using the screws.



Grounding the Switch

/

1. Connect one end of the grounding cable to a proper earth ground, such as the rack in

which the switch is mounted.
2. Secure the grounding lug to the grounding point on the switch with the screw and

washers.

ii CAUTION: The earth connection must not be removed unless all supply
connections have been disconnected.

EN



Connecting the RJ45 Ports

EN

1. Connect one end of an Ethernet cable to the RJ45 port of the switch.
2. Connect the other end of the Ethernet cable to another network device.

Connecting the SFP+ Ports

o

1. Plug the compatible SFP+ transceiver into the SFP+ port.
2. Connect a fiber optic cable to the fiber transceiver. Then connect the other end of the

cable to another fiber device.

C WARNING: Laser beams will cause eye damage. Do not look into bores of
transceivers or optical fibers without eye protection.



Connecting the Console Port

1. Insert the RJ45 connector into the RJ45 console port on the switch.
2. Connect the DB9 female connector of the console cable to the serial port on the

computer.

Connecting the Power

-

1. Plug the AC power cord into the power port on the switch.
2. Connect the other end of the power cord to an AC power source.

A WARNING: Do not install the power cord while the power is on.

EN



EN

Configuring the Switch

Configuring the Switch Using the Web-Based Interface

Step 1: Connect a computer to the Ethernet port of the switch using the network cable.
Step 2: Set the IP address of the computer to 192.168.1.X ("X" is any number from 2 to 254).

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

@ Use the g IP address:
IP address: 192.168. 1 . 2
Subnet mask: 255 .255 .256 . 0

QO Obtain DNS server address automatically
—@ Use the following DNS server

Preferred DNS server:

Alternate DNS server:

T
R

[] validate settings upon exit
=

Step 3: Open a browser, type http://192.168.1.1 and enter the default username and
password, admin/admin.
Step 4: Click Login to display the web-based configuration page.



Configuring the Switch Using the Console Port

Step 1: Connect a computer to the console port of the switch with the console cable.

Step 2: Start the terminal simulation software, such as HyperTerminal on the computer.

Step 3: Set the parameters of the HyperTerminal: Baud rate to 115200, Data bits to 8, Parity
to None, and Stop bits to 1.

Quick Connect X

Protocol:

The port may be manually entered or selected from the list.

Port: [ coms UsB serial Port -
g i 115200 o Flow Control
DTR/DSR
[] rs/cTs
[y _ ] XON/XOFF
Name of pipe: ‘ ‘
D Show quick connect on startup Save session

Open in atab

Step 4: After setting the parameters, click Connect to enter.

Troubleshooting

The System Indicator and Power Indicator Are Not On

1. Confirm whether the power switch is turned on.

2. Confirm whether the power cable is plugged in firmly.

3. Confirm whether the power module is faulty.

4. Confirm whether the pluggable power module is faulty: replace it with another one that
can supply power normally. Plug and unplug the power module. If the device can be
powered on normally, it can be confirmed that the pluggable module is faulty.

5. Confirm whether the external power adapter is faulty:

replace other external power adapters that can supply power normally. If the device can be
powered on normally, it can be confirmed that the external adapter of the device is faulty.
6. After confirming the above 5 steps, if the device still cannot be powered on normally,
please contact us.

EN



EN

Product Warranty

FS ensures our customers that for any damage or faulty items due to our workmanship, we
will offer a free return within 30 days from the day you receive your goods. This excludes
any custom-made items or tailored solutions.

Warranty: The products enjoy a 2-year limited warranty against defects in

materials or workmanship. For more details about the warranty, please check at
https://www.fs.com/policies/warranty.html

Return: If you want to return the item(s), information on how to return can be
found at
https://www.fs.com/policies/day_return_policy.html

Online Resource

For additional technical documents, visit:
https://www.fs.com/technical_documents.html

Scan the QR code to download and install the FS app from the App
Store or Google Play Store or go to
https://www.fs.com/appdownload.html

£ Download on the GETITON
@& App Store Google Play



Einfihrung

Vielen Dank, dass Sie sich flr die Switches entschieden haben. In dieser Anleitung werden
Sie mit dem Aufbau der Switches vertraut gemacht und erfahren, wie Sie sie in lhrem
Netzwerk einsetzen kénnen.

S$3240-8P
S$3240-8T
Zubehor
Netzkabel x1 Netzwerkkabel x1 Konsolenkabel x1
Gummipad x4 Montagehalterung x2 M3-Schraube x8
M6-Schraube x4 Me6-Kafigmutter x4 Erdungskabel x1

13

DE



DE

@ HINWEIS: Bitte beachten Sie, dass das Zubehor von der Abbildung abweichen
kann.

HINWEIS: Dieses Netzkabel kann nicht mit anderen Geréten verwendet werden,
und andere Netzkabel sollten nicht mit diesem Gerat verwendet werden.

Hardware-Ubersicht

Ports auf der Vorderseite
$3240-8P

PWR Console SFP+ RJ45/PoE

$3240-8T

PWR Console SFP+ RJ45

Ports Beschreibung
RJ45 10/100/1000BASE-T-Ports fiir Ethernet-Verbindungen
SFP+ SFP+-Ports fir 10 GB/s Verbindungen
Console Ein RJ45-Konsolenport fiir serielle Verwaltung
PWR Der AC-Stromport




LEDs auf der Vorderseite

$3240-8P

PWR

S$3240-8T

SYS SFP+ RJ45

PWR

LEDs Status Beschreibung

an Der Port ist verbunden.
RJ45/SFP+ . - - ~
blinkt Der Port empfangt oder tbertragt Daten
PoE an Der Port liefert Strom.
o
aus Der Port liefert keinen Strom.
PWR an Das Gerat ist ordnungsgemaB angeschaltet.
SYS blinkt Das System startet ordnungsgemas.

DE



DE

Installationsanforderungen

Bevor Sie mit der Installation beginnen, stellen Sie sicher, dass die
folgenden Gegenstande bereitliegen:

Kreuzschlitzschraubendreher, M6-Schrauben, M6-Kafigmuttern und ESD-Werkzeuge.
19"-Standard-Rack mit einer Mindesthohe von 1 HE

RJ-45 Ethernet-Kabel der Kategorie 5e oder hdher und Glasfaserkabel

Aufstellungsort

Nehmen Sie Antistatik-MaBnahmen vor. Lassen Sie die Ausriistung wahrend des
gesamten Installationsvorgangs ausgeschaltet.

Stellen Sie sicher, dass der Eingangsspannungsbereich der Spezifikation auf dem
Strom-Adapter/-Gerat entspricht.

Stellen Sie sicher, dass die Ausstattung iber gute Warmeabfuhr und Beliiftung verflgt.
Offnen Sie nicht das Gehiuse des Gerats und bauen Sie es nicht auseinander.

Schalten Sie beim Saubern der Ausstattung den Strom aus und nutzen Sie keine
Flissigkeiten zum Saubern.

Die Ausstattung sollte nicht in der Nahe von Stromleitungen, elektrischen Lampen und
Stromnetzen aufgestellt werden.



Montage des Switches

Tischmontage

-

. /

1. Bringen Sie vier Gummipads an der Unterseite an.
2. Platzieren Sie den Switch auf einen Tisch.

@ HINWEIS: Gegenstande schwerer als 4,5 kg diirfen nicht auf den Switch gestellt
werden.

17

DE



DE

Rackmontage

v

1. Befestigen Sie die Montagehalterungen mit den mitgelieferten Schrauben an den beiden
Seiten des Switches.

2. Befestigen Sie den Switch mit Schrauben am Rack.



Erdung des Switches

/

1. SchlieBen Sie ein Ende des Erdungskabels an eine geeignete Erdung an, z. B. an das

Rack, an dem der Switch montiert ist.
2. Befestigen Sie die Erdungslasche mit Schrauben und Unterlegscheiben am

Erdungspunkt des Switches.

f ACHTUNG: Die Erdungsverbindung darf nur entfernt werden, wenn alle
Stromversorgungsanschlisse getrennt wurden.

19

DE



Verbinden der RJ45-Ports

DE

1. SchlieBen Sie ein Ende eines Ethernetkabels an den RJ45-Port des Switches an.
2. SchlieBen Sie das andere Ende des Ethernetkabels an ein anderes Netzwerkgeréat an.

Verbinden der SFP+-Ports

N

1. Verbinden Sie den kompatiblen SFP+-Transceiver mit dem SFP+-Port.
2. SchlieBen Sie ein Glasfaserkabel an den Glasfaser-Transceiver an. SchlieBen Sie dann
das andere Ende des Kabels an ein anderes Glasfasergerat an.

ACHTUNG: Laserstrahlen kdnnen Augenschaden verursachen. Blicken Sie nicht
A ohne Augenschutz in die Bohrungen von Transceivern oder Glasfasern.

20



Verbinden des Konsolenports

1. SchlieBen Sie den RJ45-Stecker eines Konsolenkabels an den RJ45-Konsolenport des

Switches an.
2. SchlieBen Sie die DB9-Buchse des Konsolenkabels an den seriellen Port des Computers

an.

21

DE



DE

AnschlieBen der Stromversorgung

/

1. Verbinden Sie das AC-Netzkabel mit dem Netz-Port des Switches.
2. SchlieBen Sie das andere Ende des Netzkabels an eine AC-Stromquelle an.

ACHTUNG: SchlieBen Sie das Netzkabel nicht bei eingeschalteter
Stromversorgung an.

22



Konfiguration des Switches

Konfiguration des Switches mithilfe der webbasierten Schnittstelle

Schritt 1: SchlieBen Sie mit dem Netzwerkkabel einen Computer an den Ethernet-Port des
Switches an.

Schritt 2: Legen Sie 192.168.1.X ("X" ist eine beliebige Zahl zwischen 2 und 254) als die
IP-Adresse des Computers fest.

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

~@ Use the g IP address:
IP address: 192.168. 1 . 2
Subnet mask: 255 .255 .2556 . 0

QO Obtain DNS server address automatically
—@® Use the following DNS server

Preferred DNS server:

Alernate DS serer: L. ]

[[] validate settings upon exit
=

Schritt 3: Offnen Sie einen Browser, rufen Sie http://192.168.1.1 auf und geben Sie
Standard-Nutzernamen und -Passwort admin/admin ein.
Schritt 4: Klicken Sie auf Login, um die webbasierte Konfigurationsseite aufzurufen.

23

DE



DE

Konfiguration des Switches mit dem Konsolenport

Schritt 1: SchlieBen Sie mit dem Konsolenkabel Ihren Computer an den Konsolenport des
Switches an.

Schritt 2: Starten Sie eine Terminalsimulationssoftware wie beispielsweise HyperTerminal
auf dem Computer.

Schritt 3: Setzen Sie die folgenden Parameter in HyperTerminal: Baudrate auf 115200,
Datenbits auf 8, Paritat auf keine und Stopbits auf 1.

Quick Connect x

Protocol:

The port may be manually entered or selected from the list.

Port: [ coMms UsB serial Port -
DTR/DSR
[] rTs/cTs
(e _ ] XON/XOFF
Name of pipe: ‘ ‘
[[]Show quick connect on startup Save session

Open in atab

Schritt 4: Nachdem die Parameter festgelegt sind, klicken Sie auf Connect.

24



Fehlerbehebung

Die System-LED und Power-LED sind nicht an

1. Uberpriifen Sie, ob der Strom angeschaltet ist.

2. Uberpriifen Sie, ob das Netzkabel vollstandig eingesteckt ist.

3. Uberpriifen Sie, ob ein Fehler am Netzmodul besteht.

4. Uberpriifen Sie, ob ein Fehler am steckbaren Netzmodul besteht; ersetzen Sie es mit
einem anderen Modul, das eine normale Stromversorgung bietet. Stecken Sie dieses
Netzmodul ein und aus. Lasst sich das Gerat dann anschalten, liegt der Fehler bei dem
steckbaren Netzmodul.

5. Uberpriifen Sie, ob ein Fehler am externen Stromadapter besteht; ersetzen Sie ihn mit
einem anderen Adapter, der eine normale Stromversorgung bietet. Lasst sich das Gerat
dann anschalten, liegt der Fehler bei dem externen Adapter.

6. Kann das Geréat nach durchfiihrung dieser Schritte weiterhin nicht normal angeschaltet
werden, wenden Sie sich an uns.

Produktgarantie

FS garantiert seinen Kunden bei allen Schaden oder Fehlern, die auf FS zurlickzufiihren
sind, eine kostenlose Rickgabe innerhalb von 30 Tagen nach Erhalt der Ware.
Ausgenommen sind Sonderanfertigungen oder maBgeschneiderte Lésungen.

Garantie: Fur dieses Produkt gilt eine eingeschrankte Garantie Gber 2 Jahre auf
Material- und Verarbeitungsfehler. Weitere Einzelheiten zur Garantie finden Sie
unter

https://www.fs.com/de/policies/warranty.html

Rickgabe: Mochten Sie einen oder mehrere Artikel zuriickgeben, finden Sie
Informationen zum Riickgabeverfahren unter
https://www.fs.com/de/policies/day_return_policy.html

25

DE



DE

Online-Ressourcen

Weitere technische Dokumente finden Sie unter:
https://www.fs.com/de/products_support.html

Scannen Sie den QR-Code, um die FS App aus dem App Store oder
Google Play Store herunterzuladen und zu installieren, oder gehen
Sie auf

https://www.fs.com/de/appdownload.html

A Download on the GETITON
o App Store Google Play

26



Introduction

Merci d'avoir choisi nos commutateurs. Ce guide a pour but de vous familiariser avec la
configuration de ces commutateurs et décrit comment procéder a leur déploiement.

S3240-8P
S$3240-8T
Accessoires
Céble d'alimentation x1 Cable réseau x1 Céable console x1

5 g

Pad en caoutchouc x4 Support de montage x2 Vis M3 x8

=1 =

Vis M6 x4 Ecrou cage M6 x4 Cable de mise a la terre x1

27

FR



FR

NOTE : Les accessoires peuvent différer de I'illustration, veuillez en tenir compte.

NOTE : Ce cordon d'alimentation ne peut pas étre utilisé avec d'autres appareils,
et les autres cordons d'alimentation ne doivent pas étre utilisés avec cet appareil.

Présentation du Matériel

Ports du Panneau Frontal
$3240-8P

PWR Console SFP+ RJ45/PoE

S$3240-8T

PWR Console SFP+ RJ45

Ports Description

RI45 Ports Ethernet adaptatifs 10/100/1000/2500Base-T pour connexion
Ethernet
SFP+ Ports SFP+ pour une connexion 10 Gbps
Console Port console RJ45 pour gestion série
PWR Port d'alimentation AC




LED du Panneau Frontal

$3240-8P

S$3240-8T

LED

SYS

PWR

Etat

PWR

SFP+ RJ45

Description

Allumé Le port est connecté.
RJ45/SFP+ - : .
Clignote Le port regoit ou envoie des données.
PoE Allumé Le port fournit de I'énergie.
0
Eteint Le port ne fournit pas d'énergie.
PWR Allumé L'appareil est allumé normalement.
SYS Clignote Le systéme démarre normalement.

FR



FR

Conditions d'Installation

Avant I'installation, assurez-vous que vous disposez des éléments
suivants :

Tournevis cruciforme, vis M6, écrous cage M6 et outils ESD.
Rack standard de 19 pouces de largeur avec une hauteur minimale de 1U disponible.

Cables Ethernet RJ45 de catégorie 5e ou supérieure et cables a fibre optique.

Site d'installation

30

Prenez les mesures antistatiques appropriées. Pendant le processus d'installation,
I'équipement doit rester hors tension.

Assurez-vous que la plage de tension d'entrée correspond a la plage de tension
d'entrée indiquée sur l'adaptateur secteur/I'appareil.

Assurez-vous que I'équipement dispose d'une bonne dissipation thermique et d'une
bonne ventilation.

Ne pas ouvrir ni démonter le boitier de 'appareil.

Lors du nettoyage de I'¢quipement, veuillez couper I'alimentation électrique. Ne pas
utiliser de liquide pour nettoyer l'appareil.

L'appareil doit &tre tenu a I'écart des lignes, lampes et réseaux électriques.



Installation du Commutateur

Installation sur bureau

e N

\_ /

1. Fixez quatre pads en caoutchouc a la base du commutateur.
2. Placez le commutateur sur un bureau ou une surface plane.

NOTE : Aucun objet lourd pesant > 4,5 kg ne doit étre placé sur l'appareil.

31

FR



FR

Installation en rack

1. Fixez les supports de montage aux deux c6tés du commutateur a l'aide des vis fournies.

2. Fixez le commutateur au rack a l'aide des vis.

32



Mise a la Terre du Commutateur

-

1. Connectez une extrémité du cable de mise a la terre a une prise de terre appropriée, telle
que le rack dans lequel le commutateur est installé.
2. Fixez la cosse de mise a la terre au point correspondant du commutateur a l'aide de la vis

et des rondelles.

é ATTENTION : La connexion a la terre ne doit pas étre retirée avant que toutes les
connexions d'alimentation ne soient déconnectées.

33

FR



FR

Connexion des Ports RJ45

1. Connectez une extrémité d'un cable Ethernet au port RJ45 du commutateur.
2. Connectez l'autre extrémité du cable Ethernet a un autre périphérique réseau.

34



Connexion des Ports SFP+

\_

1. Branchez I'émetteur-récepteur SFP+ compatible au port SFP+.
2. Connectez un cable a fibre optique a I'émetteur-récepteur a fibre optique. Connectez
ensuite l'autre extrémité du cable a un autre appareil a fibre optique.

AVERTISSEMENT : Les faisceaux laser peuvent causer des lésions oculaires. Ne
pas regarder dans les alésages des émetteurs-récepteurs ou des fibres optiques
sans protection oculaire.

35

FR



Connexion du Port Console

FR

1. Insérez le connecteur RJ45 dans le port console RJ45 du commutateur.
2. Connectez le connecteur femelle DB9 du cable console au port série de 'ordinateur.

Branchement de I'Alimentation

-~

1. Branchez le céble d'alimentation AC au port d'alimentation du commutateur.
2. Branchez I'autre extrémité du cable d'alimentation a une source d'alimentation AC.

36

AVERTISSEMENT : Ne pas brancher le cable d'alimentation lorsque I'interrupteur
de mise en marche est en position de fonctionnement



Configuration du Commutateur

Configuration du commutateur a l'aide de I'interface Web

Etape 1 : Connectez un ordinateur au port Ethernet du commutateur a l'aide du cable
réseau.

Etape 2 : Définissez I'adresse IP de l'ordinateur sur 192.168.1.X (« X » étant un nombre
compris entre 2 et 254).

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

@ Use the g IP address:
IP address: 192.168. 1 . 2
Subnet mask: 255 .255 .255 . 0

QO Obtain DNS server address automatically
—@® Use the following DNS server

Preferred DNS server:

Aternate DNS serer ]

[[] validate settings upon exit
=

Etape 3 : Ouvrez un navigateur, tapez http://192.168.1.1 et entrez le nom d'utilisateur et le

mot de passe de défaut, admin/admin.
Etape 4 : Cliquez sur Login pour afficher la page de configuration Web.

37

FR



FR

Configuration du commutateur a I'aide du port console

Etape 1: Connectez un ordinateur au port console du commutateur a l'aide du cable
console.

Etape 2 : Lancez le logiciel HyperTerminal sur I'ordinateur.

Etape 3 : Définissez les paramétres de HyperTerminal : Baud rate 4 115200, Data bits a 8,
Parity a None et Stop bits a 1.

Quick Connect X

Protocol:

The port may be manually entered or selected from the list.

Name of pipe:

Port: [ coms UsB Serial Port o
Baud rate: Flow Control
Data bits: _ [] DTR/DSR
[] rTs/cTS
Parity: _ 0 xonors
Stop bits: _
|

[[]Show quick connect on startup Save session

Openinatab

Etape 4 : Aprés avoir défini les paramétres, cliquez sur Connect pour entrer.

38



Dépannage

Les indicateurs LED SYS et PWR ne s'allument pas

1. Vérifiez que l'interrupteur d'alimentation est sur la position "ON".

2. Vérifiez que le cable d'alimentation est correctement branché.

3. Vérifiez si le module d'alimentation enfichable est défectueux : remplacez-le par un autre
module capable de fournir de I'alimentation normalement. Branchez et débranchez le
module d'alimentation. Si I'appareil s'allume normalement, cela confirme que le module
enfichable est défectueux.

4. Vérifiez si 'adaptateur secteur externe est défectueux :

remplacez-le par un autre adaptateur secteur externe capable d'alimenter normalement
I'appareil. Si I'appareil s'allume normalement, cela confirme que |'adaptateur externe de
I'appareil est défectueux.

5. Apres avoir vérifié les 4 étapes ci-dessus, si l'appareil ne s'allume toujours pas, veuillez
nous contacter.

Garantie du Produit

FS garantit a ses clients que tout article endommagé ou défectueux en raison d'un défaut
de fabrication bénéficiera d'un retour gratuit dans les 30 jours suivant la réception de la
marchandise. Cette garantie ne s'applique pas aux articles sur mesure ou aux solutions
personnalisées.

Garantie : Les produits bénéficient d'une garantie limitée de 2 ans contre les
défauts matériels ou de fabrication. Pour plus de détails sur la garantie, veuillez

consulter le site

https://www.fs.com/fr/policies/warranty.html

Retour : Si vous souhaitez retourner un ou plusieurs articles, vous trouverez des

informations sur la procédure de retour sur le site
https://www.fs.com/fr/policies/day_return_policy.html

39

FR



FR

Ressources en Ligne

Pour obtenir des documents techniques supplémentaires,
rendez-vous sur :
https://www.fs.com/fr/technical_documents.html

Scannez le code QR pour télécharger et installer I'application FS
depuis I'App Store ou le Google Play Store, ou rendez-vous sur
https://www.fs.com/fr/appdownload.html.

A Download on the [clagigel}
« App Store Google Play

40



IFC®»IC

RAYFEHEBEVEFWRE HONESTEVET, COAMRTIE AIYFOLAT IR E

BREL. Ry bT—ONDEA R EEHBLET,

T8 m
BREI—RFx1 FybhT—=o =TI x1
JL/NYER x4 OISy x2

=1 =

M6+ x4 M6Tr— 7wk x4

§3240-8P

$3240-8T

d>V=ILr—=2I)Lx1

g

M3 x8

i —JIL x1

41

JP



JP

ENERIEISANCRBBZHEADBOEITDT. HENCDHITTEIIEE L,

EI COERI—RISMOMBICIIERATE XA £, tHOEBRI—RIEZD
KBICERALABEVTLES L,

N—FOT 7 DHE
ZOYENRRILAR—
S3240-8P
PWR Console SFP+ RJ45/PoE

$3240-8T

PWR Console SFP+ RJ45

K-k B

RJ45 A —H %y MMEFTA10/100/1000BASE-TAR—
SFP+ 10GbpsEHEASFP+R— b

Console ST IVEERBBRIASO VY —I)LR—k
PWR ACERA—hk




70> MNFRJLLED

$3240-8P

PWR

$3240-8T

SYS SFP+ RJ45

RJ45/SFP+ T ﬁ—HiU‘zOéh’C_b\i'% .
=¥ R—MMIT—REZEFIFEELTVET
PoE T R—MIBAHZHBLTVET
7 R—MIBAZHEHEL TV EE A,
PWR T HBOEBRIFERICAOTVET,
SYS v SATLIREEICHRBLTVET,

43

JP



JP

REDRM

O OFIC AT OMAERBINTVS EZERBL TS
o TFIRARTAN—M6RI M6T—2F v ESDY—ILo
o EEYAZDINVFES YT REIOBIHSFIBARETT.

o AFOU—5ed EDRIASA —H Ry T =TI BELVHT7AN—7—T )L,

RERE
o HEIMEELONDITVEY. REMFERI BBOBREYSTRAEICL TS L,

o ANBREEHEEIN BRT7HT2— ERBICRREINTVIANEEEEDORE L —HLT
W3 eeREsR L TIEE L,

o HBOMALBEIAN+ I THZI L EZRERL TS,
o KEBEDEFZRITIODMLIEDLABRVTIIZE L,
o HBEERIDIBIIERET>TWIETVREZEAL THEEEZISRNTIIEE L,

o KEBEIEBR BITEEBMRIEMIFIBVTESL,

44



A1y FOEDIF

TRAINDERDSF

-

N

1. EEIC4ADDT L/ RERDFITET,
2. R4y FHEHD LICEWTZ S,

B Ba4.5kebl FOBBMEMRO FICBC L3 TE £ Ao

45

JP



JP

SYINDEDFF

1L JAROXITROGIF IS ry bRy FORAEICEEL 9,

2. % VAL TRy F eIy ICRO AT EY,

46



1y F DM
e

1 Et T — DL O —th% X1y FHEG I 5N TWE 5y o783 E OBE) B ISR I L &
ED
2. EMS I E Y F ORISR LTy Sy —TERELE T,

A CHE INTOERESHIA SN TOARVED 7—REFEWMOA L TITWITEE
AIO

47

JP



RJ457R— A DL

JP

1 A =Ry —=DILO—iF%E X1 Y FDRIASR— MR LET,
2. A=Y M =TI DBH5—H DiHEFI DRy bT—IHERICERLET

SFP+7R— kA DT

.

1. B#MEDHZSFP+hT S —N\N—%SFP+R—MMIZELAHET,
2. HTTAN=TI o= N—ICHTFAN=T—TNEEFELET, RIS T—IILDH5—F
DIFHEDINT 71 N — 12 IEHRLF T,

8 LY XRSBISREES I 3TUREEN B ET, BB REEZERET
IS STV —N=H T 7N —DABBEIREAFBZVNTEE L,

48



O =ILR— A DS

1.RJA5OARIRZ—% A YF DRI —LR—MEEALET,
2. AV =T —TILDODBIXRARIZ—% AV 21— —D U TILR—MIESLET,

p

1LACERI—RZEXTyFOBRR—MIELAZET,
2. BRI-FOES—HZACERICEHLET,

A TE BREANCER BRI —FZEOMIFANTEE L,

49

JP



JP

A1YFDRE

JITR—=ADAVA—=TTAR%ZFEA LI X1y FDERE

Step 1: Fw b= =D ZFERALT. AV E2a—2Z X1y FOA —H Ry MR- MIERL

ESE
Step2: AYEa—42—DIPT7RLR%192.168.1.X (MX 113205254 F TOREEDHF) ICRTE
L&FY,

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

O Obtain an IP address automatically
—@ Use the following IP address:

IP address: 192.168. 1 . 2

O Obtain DNS server address automatically
—@® Use the following DNS server

Preferred DNS server:

Atermate DNS serer ]

[] validate settings upon exit
=

Step 3: 75U —%BE. Thttp://192.168.1.1) Y ASIL. BEEDI—H—RE/SXRT—F
admin/adminZ AL E Y,
Step 4: LoginzZ Vv L. VT IR—ADHFEER—JERRLET,

50



aAVV—IR—h2ER LI Ry FDRE

Step1: AYEa—4—%2V—)L7—TINTRAYFOIAVY/—ILR—MIERLE S,

Step2: AVEa2—82— ETNAN—F—ZFILBLEDIHEERIaL—2a VT zRE L £,

Step 3: NAN—R—ZFIDNFA—R—%HRELFT: R—L—+%115200, T—2EWr%E
8. NXUTr%None(%&L). AMYTEYRZLIZRELF T,

Quick Connect pYe

Protocol:

The port may be manually entered or selected from the list.

Port: [ coms UsB serial Port -
g i 115200 o Flow Control
DTR/DSR
[] rs/cTs
[y _ ] XON/XOFF
Name of pipe: ‘ ‘
D Show quick connect on startup Save session

Open in a tab

Step 4: NIA—HA—%HRE LIS Connectz Y1)y I LTADET,

FEIRERRIR

SRATLAV DT ==L BRI D=2 —HRIT LR

1. BRI YFHA RO TVWRHEERR LTI,

2. BRT—TIHLohDEELRAFNTVEIHIESEL TS,

3NT—EDa—I)LHAEL TVWRWAREEE L TLTE S L,

4. ZLAAINT—EZa—ILHELTVWRVWHARERL TS,
ERICBNEHATEZNDODERBL LTV NT—ESa—ILDKRFELELKES
W HEBRDERNERBICADZLSITHNIZ. ZEUAAABERET2—ILHEL TV EHEE
SRTEET,

5. NEERT AT RZ—HELTLARVLWHREEEL TS,

ERICEN MR TERMOARBERT7 I TR L LSV ERICERNASZLSTH
U EERDONB T X T Z—DEL TVB D R TETE T,

6. EEESATY IR CHERRD L ENTHEREICERNASBWEE I B FTITEEES
(A%

51

JP



JP

B mmfRaE
FSIZ\HRAZLBBRIEHRZLY ) 2—> 3> %R E YHDiBRICLZHUROFECAE R

Noo158 . EERDEGRERITIoIcAN 530 AURICER TRAZ TSI L ZRIELF
ER

Fo RALDFMIC DOV T FEEDURLZE CBREE L,
https://www.fs.com/jp/policies/warranty.html

B&GOEREFLINZHE. HEICDOVWTI FEOURLZZBRIEE L,
https://www.fs.com/jp/policies/day_return_policy.html

REE: COEMIG M EToIZELE EDRMEICH L C2FRDREFRIEZRML &

F

ZA2))—=2R

\/

ZDMOFTMERHCDWTIE FEEDURLZ CBHRIZE L,
https://www.fs.com/jp/technical_documents.html

QRO—R%EFAED.App StoreF7zidGoogle PlayX c 7H5FST7 1)
ZRAIYO—RLTAYRAM =L TEETE LI TEDOURLIZTIER
LTLIEELN,

https://www.fs.com/jp/appdownload.html

2 Download on the GETITON
« App Store Google Play

(Q.C.PASSED )

5o Copyright © 2025 FS.COM All Rights Reserved.



